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Imagines, Creates and Builds 

Solutions, Processes and Products

to meet

Present and Future needs of customers

About Us



Provides engineering services 

for the design of mechatronic

systems, including embedded 

and control design

95 Engineers employee

Opened the new Innovation Center 

+200 Engineers employee

6 Engineering platforms

4 Research programs
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Research & Innovation

We are preparing for new

Technological Trends

Research Programs in 

compliance 

With Horizon Europe 2021-

2027:

Artificial Intelligence

Climate, Energy and Mobility

Space and Earth 

observation

Industry 4.0 



BAT-MAN Project

Artificial Intelligence for

brain Technologies

Battery State of Charge is 

the electric charge 

contained in a battery

Battery State of Health is the 

maximum electric charge 

containable with respect 

nominal conditions



BAT-up!

BATMAN IBS or connected IBS

BATMAN  as connected BMS (Li-on)

BAT-MAN applications market



BAT-MAN development process

Laboratory Tests (Training Dataset) System/Architecture Design

On vehicle Test (Validation Dataset)



BAT-MAN core-technology

Validation of the algorithm
We defined a norm in input space

thanks to which there is a biunivocal

relationship among this Input Norm (in

the example, defined with respect the

distances Ŭ, ɓ, ɔ) and the Output

Norm (in the example, defined with

respect the distances ŭ, Ů, ɕ). So, the

evaluation of the input norm could

determine the accuracy of the output

(how far the output will be from the

knowledge of the algorithm)
In simpler termsé

If this is what the algorithm knowsé

éit can easily manage thisé

ébut, what about this?

A middle-discharged battery is far

from the «a-priori» knowledge of the

algorithm. It can be managed in

someway (SoC is 50% or 45%), but

the algorithm answer should be

labeled as «inaccurated».
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In order to fix ideasé


